Mnowaab NOKpbITUA

0,493 m*

Ob6bem getanu

0,0177 w3

Mnowaanb NPUKIENKN

0,235m°

KonnyectBo MynbTULLINNOB 2 LWT.
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203.16 | Nosc 145, pnnHa 162 cm




Mnowagb NOKpbITUS 0,61 V4 M2 Ob6bem getanu 0,0222 M3

Mnowags npuknerikn| 0,294 M?  |[Konuuecteo mynbTuwmnos| 2 LUT.
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203.17 | Mosc 145, npnuHa 203 cm 1:16




Mnowaab NOKpbITUA

0,283 m*

Ob6bem getanu 0,0099 M3

Mnowage npukneitku| 0,127 M?  [Konmuecteo mynbtuumnos | 1,5 LWIT.
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(MacwTtab 1:2)
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203.25 | MNosc 145, nesbin yron 90 cm

1:8




Mnowagb NOKpbITUS 0,283 M2 Ob6bem getanu 0,0099 M3

Mnowage npukneitku| 0,127 M?  [Konmuecteo mynbtuumnos | 1,5 LWIT.

900

90
gﬁ
'izo
45
Bua cnesa
(MacwTtab 1:2)
90
o ! 9]

70

20

145

50

45

203.35 | MNosc 145, npaBbin yron 90 cm 1:8




Mnowagb NOKpbITUS 0,380 M2 Ob6bem getanu 0,01 34 M3

Mnowags npuknerkn| 0,173 M?  |[Konuuecteo mynbTiwmnos| 2 LUT.
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203.28 | Mosc 145, neBbin yron 122 cm 1:8




Mnowagb NOKpbITUS 0,380 M2 Ob6bem getanu 0,01 34 M3

Mnowags npuknerkn| 0,173 M?  |[Konuuecteo mynbTiwmnos| 2 LUT.
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203.38 | Mosc 145, npaBbin yron 122 cm 1:8




